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If the region R lies between two curves Y= f(x) and y = &(x), where f (*) > g(x) for a S x < b, then the Center of
Mass of the region is located at the point (%,7); where
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The masses m; are located at the points 2. Find the moments /{ /k‘: g/n’f(' 3(‘ = M I ‘é‘ T/”lq_ﬂz"} 4413 33
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Book Problem 37

Find the centroid (%,7) of the region bounded by:

}):321} y=0, x=0, and x=4.
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Find the centroid (z, ¥) of the region bounded by the two 5
curves y = 10y/x and y = 2x, e %,

= (o n2 fy —

20Y.23229 (0” 2%x q{kn

[0 )
S (J;/)fel(fmm_cm?jﬂ’%:\

-

oy
I

5. app UNCC1242/EssenlialCaIculus-Stewart-Sec‘?.S.ﬂ.pg

Book Problem 41
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Find the centroid (%,7) of the region bounded by the two
curves y =sinx, y=4cosx, x= 0, and x=m/3,
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Book Problem 43

A lamina has the shape of a triangle with vertices at (=9,0),
(9,0), and (0,7). Its density isp =9,

A. What is the total mags? SO

B. What is the moment about the x-axis?

C. What is the moment about the y-axis?

D. Where is the center of mass? e )
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Book Problem 44

A lamina occupies the part of the digk 32 +y? <16 in the-
first quadrant. Its density isp = 5,

A. What is the total mass? __ 3.0 T ,
B. What is the moment about the X-axis? _320/%
C. What is the moment about the y-axis? 220, 2

D. Where is the center of mass? (£ A ) (I. 6?76/ g s g )
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